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ECONOMICS — GENERAL
Paper : GE/CC-4
(Indian Economic Policies)
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[ English Version ]
The figures in the margin indicate full marks.
Group - A
1. Answer any ten questions : 2x10

(a) Indicate any two structural features of Indian Economy.
(b) What is primary sector?

(c) What is Regional Rural Bank (RRB)?

(d) What is the full form of NABARD?

(e) What is Operation Barga?

(f) Define Public Sector Enterprises with an example.

(g) What do you mean by NPAs of commercial banks?

(h) What is Speciai Economic Zone (SEZ)?
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What is primary deficit?

What is devaluation policy?

What are the different types of non-institutional sources of rural credit?
What is GST? When was it implemented in Indian economy?

What is meant by monetary policy?

What is the full form of TRIPS?

Mention four export items of India in the recent time.

Group - B

2. Answer any three questions : 5x3

(2)
(b)
(©)
(d)
(e)

What are the adverse effects of Green Revolution?

Briefly explain the relation between farm size and productivity.

What are the problems faced by the small scale and cottage industries in India?
Briefly describe the advantages of agricultural mechanisation in India.

Give arguments in favour of privatisation of Public sector in India.

Group - C
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3. Answer any three questions :

(a)

(b)
(c)
(d)

(e)

What are the major causes of adverse balance of payment account in the external trade of India?
Can you suggest two effective remedies for that? 6+4
Discuss the role of MSME in Indian economy. 10
Describe the industrial policy of Government of India taken in 1991. 10

What are the objectives of land reform in India? Evaluate the land reforms programme in India.
2+8

Discuss the role of co-operative bank in facilitating rural credit in India. 10



